MODEL QUESTION BANK FOR WRITTEN EXAMINATION FOR THE POST OF JUNIOR
CLERK IN LEVEL-2 OF 7™ CPC PAY MATRIX AGAINST 16 2/3% LDCE QUOTA
IN HYB DIVISION

I. GENERAL KNOWLEDGE MAINLY PERTAINING TO RAILWAY MATTERS

[Qn. No. 1]

Who is present Chairman and Chief Executive Officer of Railway Board?

(A) Sri Vinod Kumar
Yadav

(B) Sri Gajanan
Mallya

(C) Sri Ashwini
Vaishnaw

(D) Sri Suneet
Sharma

Answer: D

[Qn. No. 2]

Indian Railways Institute of Mechanical & Electrical Engineering is situated at

(A) Kharagpur | (B) Jamalpur | (C) New Delhi | (D) Lucknow
Answer: B

[Qn. No. 3]

India’s first Private Train is

(A) Prithvi | (B) Humsafar | (C) Tejas | (D) Duronto
Answer: C

[Qn. No. 4]

Number of Railway Recruitment Boards are

(A) 21 | (B) 24 | (©) 20 | (D) 18
Answer: A

[Qn. No. 5]

Revised Designation of Safaiwala is

(A) Assistant (Works)

(B) General Assistant

(C) House Keeping

(D) Assistant (Office)

Assistant
Answer: C
[Qn. No. 6]
The Number of Folios on Correspondence side of a file should not exceed
(A) 250 | (B) 300 | (C) 350 | (D) 200
Answer: B
[Qn. No. 7]

Name of the register where File Movement is entered.

(A) File Movement
Register

(B) Despatch
Register

(C) Dak Register

(D) Incumbency
Register

Answer: A

[Qn. No. 8]

Headquarters of East Central Railway is located at

(A) Jabalpur

| (B) Hajipur

| (C) Raipur

| (D) Allahabad

Answer: B
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[Qn. No. 9]
Modified Assured Career Progression Scheme has come into effect from

(A) 01.10.1999 | (B) 01.09.2018 | (C) 01.09.2008 | (D) 01.09.1998
Answer: C

[Qn. No. 10]

The highest Pay Level in 7*" Pay Commission is

(A) Level-15 | (B) Level-16 | (C) Level-17 | (D) Level-18
Answer: D

[Qn. No. 11]

What is the Basic Pay of an employee appointed in Level-2 of 7" CPC Pay Matrix
(A) 18,000 | (B) 219,000 | (C) 719,500 | (D) 719,900
Answer: D

[Qn. No. 12]

How much minimum period gap is required between one increment and another increment
of an employee?

(A) 6 months | (B) one year | (C) 8 months | (D) 9 months
Answer: A
[Qn. No. 13]
Full form of CRIS is Centre for Railway Systems. Fill in the blank.
(A) Information | (B) Institute | (C) Intelligence | (D) None of the Above
Answer: A
[Qn. No. 14]
Railway Servants (Discipline & Appeal) Rules, 1968 came into effect from
(A) 01.10.1968 | (B) 01.11.1968 | (C) 01.12.1968 | (D) 01.01.1968
Answer: A
[Qn. No. 15]
Railway Servants (Discipline & Appeal) Rules, 1968 are not applicable to
(A) Any member of (B) Any member of (C) Any person in (D) All the three

All India services Railway Protection casual employment

Force
Answer: D
[Qn. No. 16]
Standard Form used for placing a Railway Servant under Suspension is
(A) SF-1 | (B) SF-4 | (C) SF-5 | (D) SF-11
Answer: A
[Qn. No. 17]
is the least penalty under Railway Servants (Discipline & Appeal) Rules, 1968.

(A) Recorded Warning | (B) Censure | (C) Warning | (D) SF-11
Answer: B
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[Qn. No. 18]

Computer Advance is allowed a maximum of times during the entire service of a
Railway Servant.
(A) 5 [ (B) 6 [ (C) 4 [ (D)3
Answer: A
[Qn. No. 19]
Quantum of Amount for Computer Advance is
(A) 50,000 | (B) %50,000 or Actual Price of (C) %30, 000 (D) %1,00,000
Computer
whichever is lower
Answer: B
[Qn. No. 20]
Rate of Interest for Computer Advance is
(A) 5% | (B) 11.5% | (C) 8% | (D) 10.5%
Answer: B
[Qn. No. 21]
Computer Advance is recovered in such number of equal monthly instalments as the railway
servant may elect, but not exceeding instalments.
(A) 100 | (B) 150 | (C) 175 | (D) 200
Answer: B
[Qn. No. 22]

As per HBA Rules, Cost of the house to be built/purchased (excluding the cost of plot)
should not exceed 139 times of the basic pay of the employee subject to a maximum of

(A) 350,000 | (B) 275,000 | (C) 2 1 Crore | (D) 225,000

Answer: C

[Qn. No. 23]
The rate of Dearness Allowance payable to Railway employees as enhanced with effect from
01.07.2021 is

(A) 21% | (B) 27% | (C) 31% | (D) 36%
Answer: C

[Qn. No. 24]

The rate of Operation Theatre Allowance has been revised to with effect from
01.07.2017.

(A) 3640 p.m. | (B) 3540 p.m. | (C) 3740 p.m. | (D) 2840 p.m.
Answer: B

[Qn. No. 25]

In case of running staff, ordinary rate of pay includes % of Basic Pay.

(A) 50 | (B) 55 | (©) 30 | (D) 25
Answer: C
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[Qn. No. 26]
Integral Coach Factory is located at

(A) Perambur | (B) Coimbatore | (C) Salem | (D) Madurai
Answer: A

[Qn. No. 27]

Which of the following railway station has the longest railway platform in India?

(A) Kharagpur | (B) Badlapur | (C) Gorakhpur | (D) Bilaspur
Answer: C

[Qn. No. 28]

Accumulation of LAP in leave account up to a maximum limit of 300 days is effective from
(A) 04-06-1997 | (B) 02-06-1996 | (C) 01-07-1997 | (D) 03-08-1997
Answer: C

[Qn. No. 29]

Maximum limit of Child Care Leave is

(A) 520 days | (B) 730 days | (C) 600 days | (D) 365 days
Answer: B

[Qn. No. 30]

How many days of joining time are permissible on transfer up to 2000 kms?

(A) 20 days | (B) 12 days | (C) 10 days | (D) 15 days
Answer: B

[Qn. No. 31]

In a calendar year, how many days of Special CLs may be granted to a Railway employee
while on scouting duty?

(A) 12 | (B) 20 | (C) 15 | (D) 30

Answer: D

[Qn. No. 32]
The longest railway bridge in India is

(A) Vembanad Bridge | (B) Bogibeel Bridge | (C) Nehru Setu | (D) Mahanadi Rail Bridge

Answer: B

[Qn. No. 33]
What are the total days of leave encashment including LAP and LHAP is permissible at the
time of retirement?

(A) 250 days | (B) 365 days | (C) 300 days | (D) 290 days
Answer: C

[Qn. No. 34]

How many days of Maternity leave are permissible to a female Railway employee?
(A) 180 days | (B) 300 days | (C) 270 days | (D) 365 days
Answer: A
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[Qn. No. 35]
Number of Restricted Holidays that can be granted to Workshop Staff are

(A) 2 | (B) Nil 1(©)3 | (D)5

Answer: B

[Qn. No. 36]
Study Leave can be granted for not more than months during the entire service of
a Railway Servant.

(A) 24 Months | (B) 18 Months | (C) 36 Months | (D) 12 Months

Answer: A

[Qn. No. 37]
How many sets of Privilege Passes, Group A and Group B officers are entitled to in a
calendar year?

(A) 8 [ (B)6 [(©)4 | (D) 10

Answer: B

[Qn. No. 38]
In which class, II A Class pass holder is entitled to travel?

(A) Two tier AC | (B) Three tier AC | (C) First class | (D) None of these

Answer: B

[Qn. No. 39]
For how many post retirement complimentary passes a retired Group “"C” employee with
less than 20 years of service is entitled in calendar year?

(A) 2 | (B) 3 | (C) Not entitled for PRCP | (D) 1

Answer: C

[Qn. No. 40]
For how many school passes Son/Daughter of a Railway employee is entitled?

(A) 3 sets | (B) 6 sets | (C) 4 sets | (D) 3 sets or six half sets

Answer: D

[Qn. No. 41]
If dependents are included in the privilege pass then how many maximum number of
members are permitted?

(A) 3 [(B)5 [(©) 6 | (D) 4

Answer: B

[Qn. No. 42]
How many number of privilege passes will be issued to Special Class Railway Apprentices in
a calendar year?

(A) 2 sets | (B) 3 sets | (C) 4 sets | (D) 1 set

Answer: A

[Qn. No. 43]
How many maximum number of passes can be allowed to a suspended Rly employee in a
year?

(A) 2 sets | (B) One set | (C) 3 sets | (D) 2 half sets

Answer: B
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[Qn. No. 44]
How many widow passes can be issued to widow of Group “"D” railway employee?

(A) 1 set every year | (B) 2 sets | (C) 1 set in every 2 years | (D) Nil
Answer: C

[Qn. No. 45]

What is the qualifying service required for Voluntary Retirement?

(A) 25 years | (B) 20 years | (C) 30 years | (D) 15 years
Answer: B

[Qn. No. 46]

Since when the new Pension Scheme is introduced?

(A) 01.04.2004 | (B) 01.01.2004 [ (C) 01.01.2014 | (D) 01.01.2003
Answer: B

[Qn. No. 47]

How many months’ notice is required to be given by the Railway employee for voluntary
retirement?

(A) 4 months | (B) 2 months | (C) 3 months | (D) 6 months
Answer: C
[Qn. No. 48]
Central Govt Employees Group Insurance Scheme came into force with effect from
(A) 01.01.1982 | (B) 01.01.1983 [ (C) 01.01.1984 | (D) 01.01.1985
Answer: A
[Qn. No. 49]
The Pension Scheme was introduced in Railways with effect from
(A) 01.01.1957 | (B) 01.04.1957 [ (C) 01.01.2004 | (D) 01.07.1968
Answer: B
[Qn. No. 50]
Which of the following is the longest railway zone in India?
(A) Central Railway | (B) South Central (C) Northern (D) Western Railway
Railway Railway
Answer: C
X Xk Xk

Jr CLERK 16 2/3% LDCE Quota HYB DIVN Page 6




II. ENGLISH LANGUAGE
(Tenses, Verbs, Change of Voice, Gender, Singular/Plural, Articles & Adjectives)

[1] I wake up early to catch the flight tomorrow. (Fill in the bank with
appropriate word)

A. must

B. can

C. could

D. would have

Answer - A

[2] The whole family for the ceremony.

A has been invited
B have been invited
C invites

D invited

Answer - A

[3] Joseph ___ by everyone after he won the competition.
A was congratulated

B congratulate

C shall be congratulated

D have been congratulated

Answer - A

[4] Choose the correct sentence.
A I did not accompanied them.

B I do not accompanied them.

C I does not accompany them.

D I do not accompany them.
Answer - D

[5] Fill in the blank with the past perfect tense form of the verb given in the bracket.
“Ramu his job.” (do)

A did

B was doing

C had done

D had been doing

Answer - C

[6] Fill in the blank with the present perfect continuous tense form of the verb given in the
bracket. "Workers day and night.” (work)

A had been working

B have been working

C has been working

D are working

Answer - B

[7] Vikram from the vacation just now.
A has returned

B had returned

C had been returning

D returns

Answer - A

[8] The stars bright at night.
A shines

B shine

C has shine

D shining

Answer - B
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[9] The thief and the eye-withess
A has escaped

B has been escaping

C was escaping

D have escaped

Answer - D

[10] Ram and Shyam business partners.
A. have

B. has

C. are

D. had

Answer - C

[11] Either of the two candidates eligible.
A. is

B. have

C. are

D. has been

Answer - A

[12] She her office by 9 a.m. daily.
A. reach

B. reaches

C. reached

D. reaching

Answer - B

[13] Neither Rishi nor Rhea helpful.
A. were

B. was

C. are

D. have been

Answer - B

[14] The lawyer and the assistant together.
A. enters

B. has enter

C. entered

D. had enter

Answer - C

[15] The government will the order soon.
A. passed

B. passes

C. pass

C. has passed

Answer - C

[16] A series of seminars conducted.
A. was

B. were

C. are

D. have

Answer - B
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[17] Some of the rice still left.
A.is

B. are

C. has

D. have

Answer - A

[18] None of the candidates responded.
A. were

B. have

C. has

D. is

Answer - C

[19] The clouds disappeared.
A. has

B. have

C. were

D. are

Answer - C

[20] I have _ relatives.
A. much

B. more

C. all

D. many

Answer - D

[21] Alps are the longest Mountains in Europe.
A A

B. An

C. The

D. None

Answer - C

[22] Fill in the blank with appropriate word.
Prevention is __than cure.

A. Best

B. Good

C. Better

D. Worse

Answer - C

[23] One should not give unsolicited advice. (Change the Voice and choose the correct
answer)

A. Unsolicited advice is not to be given.

B. Unsolicited advice can’t be given.

C. Unsolicited advice may not be given.

D.Unsolicited advice should not be given.

Answer - D

[24] The money was stolen by an employee of the bank. (Change the Voice and choose
the correct answer)

A. An employee of the bank had stolen the money.

B. An employee of the bank steal the money.

C. An employee of the bank stole the money.

D. The money can be stolen by an employee of the bank.

Answer - C
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[25] Identify the incorrect answer. [Plural]
A. Son-in-Law = Sons-in-Law

B. Leaf = Leaves.

C. Tooth = Teeth

D. Memorandum = Memorandums

Answer - D [Plural of Memorandum is Memoranda]

[26] Identify the incorrect answer. [Gender]
A. Tiger = Tigress

B. Emperor = Empress.

C. Master = Mistress

D. Nephew = Aunt

Answer - D [Feminine Gender of Nephew is Niece]

[27] Rohan be here anytime soon. (Fill in the bank with appropriate word)
A. can

B. would

C. will

D. may

Answer - C

[28] All members attend the meeting as per the notice.
(Fill in the bank with appropriate word)

A. can

B. would

C. might

D. should

Answer - D

[29] You bring more food. We have enough supplies already.
(Fill in the bank with appropriate word)

A. shall not

B. need not

C. could not

D. would not

Answer - B

[30] You borrow my books for your research.
(Fill in the bank with appropriate word)

A. need to

B. can

C. have to

D. ought to

Answer - B

[31] There is boiling water in the pan. The Adjective in this sentence is
A. Boiling

B. Water

C. both A&B

D. None of the above

Answer - A

[32] You should take advice from a Mature person. The Adjective in this sentence is
A. Should

B. Advice

C. Mature

D. All the above

Answer - C
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[33] This is my Pen. The Adjective in this sentence is ___
A. This

B. Is

C. My

D. Pen

Answer - C

[34] The young man has grey hair. The Adjective in this sentence is
A. Young

B. Man

C. Grey

D. All the above

Answer - C

[35] Whose pet is this? The Adjective in this sentence is
A. Whose

B. Pet

C. This

D.Is

Answer - A
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III. ARITHMETIC

[1[ Simplify : 10 - [41 - {28 + (12 -3 - 1)}]

A.
B.
C.
D.
Answer -B

[3] Simplify: 5x5 minus 5

5 divided by 1/5
A. 4/5
B. 3/5
C. 2/5
D. 1/5
Answer - A

[4] If A:B=2:3andB:C=9:5Find A:B:C

O\-bU'IO‘\
LOCDO‘\U'I
U'IkDLDkO

A.
B.
C.
D.
Answer -D

[51 If A:B =3/5:5/7and B:C = 3/4:2/s Find A:B:C

A. 63:75:40
B. 65:36:10
C. 45:65:90
D. 60:90:50
Answer - A

[6] In a school 4/9 of the pupils are boys. There are 125 girls. How many boys are there?
A. 100

B. 225

C. 275

D. 250

Answer - A

[7] In an office, the ratio of the salaries of an officer and a clerk is 15:7. If the salary of a clerk is
Rs. 720/- less than the salary of the officer, find the salary of each?

A. 1350

B. 2250

C. 750

D. 600

Answer - A
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[8] David obtained 75,65,82,67 and 85 marks (out of 100). What is his average mark?
A.74.8

B. 94.8

C. 79

D. 78.4

Answer - A

[9]1 The cost of 10 books is Rs. 80/-. Find the value of 15 books?
A. 800

B. 120

C. 250

D. 150

Answer - B

[10] The population of a town during 2000 census was 27860. During 2005 census the
population has increased by 5%. Calculate the increase in population.

A. 1393

B. 29253

C. 1933

D. 25293

Answer - A

[11] If 18 tonnes of grass is needed for 12 cows. How many tonnes of grass I required for
30 cows?

A. 80

B. 20

C. 45

D. 50

Answer - C

[12} If 80 men can do a piece of work in 10 days, how many men are required to do the same
work in 2 days?

A. 400

B. 200

C. 500

D. 600

Answer - A

[13] Rice costing Rs. 480/- is needed for 8 members for 20 days. What is the
cost of rice required for 12 members for 15 days?

A. 440

B. 240

C. 540

D. 640

Answer - C

[14] 24 men working at 8 hours a day can do a piece of work in 15 days. In how many days can
20 men working at 9 hours a day do the same work?

A. 16

B. 24

C. 14

D. 34

Answer - A
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[15] Ifthe Cost Price of one book is Rs. 10/- and the Selling Price is Rs. 12/-. What is the Profit
or Loss on 100 books?

A. Profit of Rs 200

B. Loss of Rs 200

C. Profit of Rs 250

D. Loss of Rs 250

Answer - A

[16] Ifthe Cost Price is Rs. 640/- and Selling Price is Rs. 680/- What is the Profit percentage?
A. 5.25%

B. 6.25%

C. 6%

D. 5%

Answer - B

[17] A bookseller brought a ream of white paper for Rs. 100/- and sells at 24 sheets for
Rs. 6.50 ps. Is there any profit or loss?

A. Profit of 35.41%

B. Loss of 35.41%

C. Profit of 30%

D. Loss of 30%

Answer - A

[18] An animal trader buys a cow for Rs. 1200/- and sells at a loss of 81/3%. What is the Selling
Price of the cow?

A. Rs 1000

B. Rs 1100

C. Rs 1200

D. Rs 1300

Answer - B

[19] If the Marked Price of an article is Rs. 54/- and discount is Rs. 6/- what is the Selling
Price?

A. Rs 50

B. Rs 58

C. Rs 48

D. Rs 38

Answer - C

[20] If the Selling Price of an article is Rs. 42/- and discount is Rs. 3/- what is the Marked Price?
A. Rs 45

B. Rs 55

C. Rs 54

D. Rs 39

Answer - A

[21] If the Marked Price is Rs. 20/- and the discount is Rs. 2/- What is the discount percentage?
A. 20%

B. 18%

C. 22%

D. 10%

Answer - D
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[22] The marked price of a cycle is Rs. 1280/-. By allowing a discount of 10%, it gives a profit
of Rs. 72/-. Find its Cost Price?

A. Rs 1080

B. Rs 1342

C. Rs 1290

D.Rs 1218

Answer - A

[23] In what time will Rs. 1250/- amount to Rs. 1400/- at 6% per annum?
A. 1 Year

B. 3 Years

C. 4 Years

D. 2 Years

Answer - D

[24] Find the simple interest on a sum of Rs. 1000/- for 4 years at the rate of 3% per annum?
A. Rs 950

B. Rs 120

C. Rs 1200

D. Rs 480

Answer - B

[25] A man had Rs. 800/-. He spent 25% of it. What is the balance amount available with him?
A. Rs 600

B. Rs 200

C. Rs 120

D. Rs 400

Answer - A

[26] There are 500 students in a school. 100 of them come to school by bus, 200 come by
bicycle and the rest by foot. What percent students come by foot?

A. 50%

B. 25%

C. 40%

D. 30%

Answer - C

[27] A can do a piece of work in 6 days and B can do the same work in 12 days. How long will
they take to complete it, if they both work together?

A. 4 Days

B. 5 Days

C. 3 Days

D. 6 Days

Answer - A

[28] 9572-4018-2164=?
A. 3300

B. 3390

C. 3570

D. 7718

Answer - B
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[29] 5358X51=?
A. 273258

B. 273268

C. 273348

D. 273358
Answer - A

[30] 270 candidates appeared for examination of which 252 passed. The pass percentage is
A. 95.5%

B. 94.5%

C. 93.3%

D. 93.5%

Answer - C
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OFFICIAL LANGUAGE — POLICY & RULES

[PLEASE NOTE THAT THE ANSWERS ARE INDICATED IN BOLD]

TY Y TSTHTST el 3w am9T- 17 & T e &7 9

(F) 3EATI-1

(@) A2

@3T) 31T - 3

(51 3TETT4

Which chapter of the Constitution mentions about the official language of the Union?

() Chapter-1

(@) Chapter -2

(@) Chapter -3

(&) Chapter -4

THE H 3UANT T ST ATl 19T & IR H R & HAUTA & fohd 31feoe A Joad g2
(@) ITeDe-12 (@) I -120
(@N3iede-112 (&) 3eTede- 210

Which Article of the Constitution of India mentionsabout the language to be used in the Parliament?

(%h) Article - 12

(@) Article-120

(31) Article -112

(&) Article - 210

feITeT H e & JI9T h1 ST aTell 81787 & Heer H HR & WAL & e Jefede H Seold 87

(&) HTTBE-120 (@) ITede -210
(W):HH;&E-S% ) 313—&?:;, - 345

Which article of the Constitution of India mentio

ns about the language to be used in the Legislature?

(A) Article - 120

(B) Article -210

(C) Article -343

(D) Article -345

TS Y JTSTHTNT AT ASTHIIIST & aR H HRA & HAUT & 6 eTede A Seod 8?2

() HFea- 343 (W) TG -344
(AN HTEDG-345 (51 31D - 346

Which article of the Constitution of India mentions about the official language or official languages of the

state?

(A) Article - 343

(B) Article -344

(C) Article -345

(D) Article - 346

HR & HIAUTT & 3HTHR TE T TSATIT Y

e faf gt

() JFA

(&) TRISEr

()T

(51) SITFEY

According to the Constitution of India, the official language of the Union will be Hindi and the script will be

?

(A)Roman

(B) Kharosthi

(C) Devnagri

(D) Brahmi

i i frd g & T & TS F Sead B?

(&) araar

(@) 3radt

(@maAtdr

(&) gadr

Which Schedule of the Constitution mentions about the official languages of the state?

(A) Seventh (B) Eighth
(C) Ninth (D) Tenth
et e fha av ik frar arm

() 1961 (9) 1962
(@M1963 () 1968
In which year was the Official Language Act passed?

(A) 1961 (B) 1962
(C) 1963 (D) 1968

[Contd.,



n2::

8 | o wfRferae i forg arT & el o aEardel i e iR 3 Qe st 7 e ®v & R,
SR foRam ST 3fotarst &2
(%) TR 3(1) (") ¥R 3(2)
(MMEURT 3(3) (") gRT 4
Under which section of the Official Language Act, some documents are compulsorily prepared, issued in both
Hindi and English languages?
(A) Section 3(1) (B) Section 3(2)
(C) Section 3(3) (D) Section 4
9 | TrorerTeT ArfATATH F TASTAT Bl FATead A & fv fFTs ST afea 5 v v 7152
() FEAERDT (@) TSTTERDT
(AT ATeTHT (6 SARARISAGT
Who is empowered to make rules to implement the Official Language Act?
(A) Central Government (B) State Government
(C) Governor (D)None of the above
10| rorsmreT Hehed fara o & girer o faram aram am?
(&) 1960 (@) 1962
(AN1967 (1) 1968
During which year the Official Language Resolutionwas passed?
(A) 1960 (B) 1962
(C) 1967 (D) 1968
11 | gosmr e v av oika fomam amr ar
(s6)1963 (@)1967
(aT)1976 (e)1987
In which year the Official Language Rules were passed?
(A) 1963 (B) 1967
(C) 1976 (D) 1987
12| o fATH AR & fhE ToF 9T o] AT B 82
() STFH-HIHT (@) affeerg
(37) e (7) 318 ¥ RS AL
Official Language Rules do not apply to which state of India?
(A) Jammu-Kashmir (B) Tamil Nadu
(C) Goa (D) None of the above
13 | TSt wAieadsl $T €fSc & ASEANT f@9H 1976 & i HRd H Fhael &1 # gaficha foha
IR 77
(#) 2 (@)3
(M4 (') 5
With a view of implementation of Official Language, how many regions have been classified in India under
Official Language Rules 19767
(A) 2 (B) 3
©4 (D) 5
14 | 3icART THRITR ST HHAg TTHNT & JAN-GAR & v quffena e & & 3rehe 3ma g
() & & (@) @ &7
(@D & (&) ST & Plg AET
Andaman and Nicobar Islands come under which areaclassified for the propagation of the Official language ?
(A)‘A’region (B) ‘B’region
(C) ‘C’region (D) None of the above
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15| feATErer Ueer T TSTATST & TilaT-SER & T aaffenet faner &1 & 3refier smar g2
() ‘8T @) ‘e
(@) T e (¥1) SAHAPIGAET
The state of Himachal Pradesh comes under which area classified for the use of the official language?
(A)‘A’region (B) ‘B’region
(C) ‘Cregion (D) None of the above
16 | HRd TFR & AT # Iods a¥ Gy Gaw Fa Aamar Jrar g2
(@)12 RAdeR (@)14 Ra
(@12 Siefadr (&) 14 Sefadr
When is Hindi Day celebrated every yearin the Central Government Offices?
(A) 12"September (B) 14™September
(C) 12" January (D)14™January
17| afaenes T o ST T AT & &9 H e TAHR oham?
(@) 10 STAST 1975 @) 10 RAdsR 1975
(AN14 G, 1949 (&) 14 AT 1963
When did the Constituent Assembly accept Hindi as the official language?
(A) 10™January 1975 (B) 10™September 1975
(C) 14™September 1949 (D) 14™September 1963
18 | 9y wiaener & 8dT eperet # oA & & @l @ #rom anffier e 82
(&) AqTeT @) 3§
(1) 373 (&) T
Which of the following languages is not included in the 8th Schedule of the Constitution?
(A) Nepali (B) Urdu
(C) English (D) Sindhi
19| difarener v 8 eTeet H 379 ek fehctetl T3 BT Ao &1 STt 87
@) 15 () 18
(22 (&) 24
How many languages have been recognized in the 8th schedule of the constitution so far?
(A) 15 (B) 18
(C)22 (D) 24
20 | JroTeNTT T & AR IS o TN e, T AT IATAe fohe ST 7 X Hehell 87
() e & (@) 3l
(MR ar s & (&) frey oft omor A
According to the Official Language Rules, in which language can any employee can submit his application,
appeal or representation?
(A) In Hindi (B) In English
(C) InHindi-English (D) In any language
21

A37eT, AT, TfohdT Faeh 3T Afe e oI@el AT 3111e efaenien &9 & SRY fhT STt 1 3rforardieres
TR F T A & v e I 7 3o har arar g2

@) a9 @) A 10

@nfaas 11 (@) 9 12

In which rule of the Official Language Rules have been mentioned about the imperative of issuing bilingual
form manuals, codes, other literature related to process etc.?

(A)Rule 9 (B) Rule10

(C) Rule 11 (D) Rule 12
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22| o ATH HEA-12 % HER TSt JrffaeH iR FgaAt & gay A Sl Adet & qnfaa
3FefaTele o1 GIATRHT X A T ekl ded fohdy FidT a1 g7
() TSTATST 3TAHRY T (@) FHATITT & TATH S T FI
@nTEfad SR #r (&n) 39gerd At
According to Official Language Rule-12, who is entrusted with the responsibility of ensuring proper
compliance of the instructions issued in connection with the Official Language Act and Rules?
(A) Rajbhasha Adhikari (B) Administrative Head of the office
(C) Concerned Dealer (D) Above three
23 | g BXHR & FrATEA 7 TSI TSTHTST Hrdleadst AfATT T daeht o HTAISTeT Sl AT FT 52
F) 3 AR ATH IR (@) 6 AEA H Teh §R
@) I H Th a- ()2 99 H Tk a-
What is the period for holding the meetings of the Official Language Implementation Committee
constituted in Central Government Offices?
(A) Once in 3 months (B) Once in 6 months
(C) Oncein ayear (D)Once in 2 years
24 | qroterTeT oI, 1976 H Fet fheel fge &2
() 9 (@)10
(Mm12 (=)14
How many rules are there in the Official Language Rules 19767
(A) 9 (8) 10
(C) 12 (D)14
25 | REEaR Ay &at 7 et o fhe s A wefia arar g2
(@) &, 3rareh, e s (@) 33, e, s e
(e smm, R, rsh (e s, el e
In which order the boards are displayed in non-Hindi speaking areas?
(A) Hindi, English, Regional Language (B) English, Hindi, Regional Language
(C) Regional Language, Hindi, English (D) Regional Language, English,Hindi
26 | FHzel Yol FHIATE ST ISTHTT Fdleadst GiATT & JHETeT HiaT gl 62
() 3R FTT TSI JTeHRY (W) AST T JaeH
(3T) FT TATHTST HfeHRY (&) FETISUH
Who is the Chairman of the Official Language Implementation Committee of the Divisional Railway
Office?
(A) AMRA (B) DRM
(©) MRA (D)GM
27 | &l Yo ASTHTST FriTeadl AT & T8 et gl &2
() HEY TSN TR (@) T HEF Hifeh ity
(AT FAETI T (EN3IHETET, Yerdas
Who is the Chairman of Zonal Railways Official Language Implementation Committee?
(A) MRA (B) PCPO
(O GM (D)Chairman, Railway Board
28 | rorenTeT TR 1963 7 el fohclet 4RI §?
)9 @) 10
(N1l (E)12
How many Sections are there in the Official Language Act 1963?
(A) 9 (B) 10
(O) 11 (D)12
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29 | rorerreT JfAfATA 1963 &1 ford URT & HAIT g THR &I TAATNT Hafd FH7 g7 Hr
afed & a1 82
(F) URT -6 (@) R -7
(IMEYURT -8 (&) &rT -9
Under which section of the Official Language Act, 1963, the Central Government has been given the power
to make rules related to the official language.
(A) Section -6 (B) Section -7
(C) Section -8 (D)Section -9
30 | qrsremmer TR 1976 & fone g\ & 3icdda waeardl vrger W feeaul ar sriga {E ar sEen &
forg gehar g?
@) a7 3(1) @) FFH 7(1)
@n s 8(1) (e 10(1)
Under which rule of the Official Language Act 1976, an employee can write Notings or minutes on the file
in Hindi or English?
(A) Rule 3(1) (B) Rule 7(1)
(C)Rule 8 (1) (D) Rule 10(1)
31| qrorenTeT TSI T URT 3(3) F IFeTdTeNA T alfca ot 1 |iaT I1T 82
() FIITTT F TRMTH S TEITT Y () TSTHTTITRRT Sl
@ENAF STATAHAT IX FEATE FH¥a arel HTAFRY Y (&) Tefead forfe &r
Who is entrusted with the responsibility of complying with Section 3(3) of the Official Language Act?
(A)Administrative Head of the office (B) Rajbhasha Adhikari
(C) Officer signing such documents (D) Concerned Clerk
32| roreTT for T, 1976 % Ta¥2ra1 05 o oA fEel 7 gred =l & 3ax fobar 1T & St 3rafare &2
@) & (@) 3
(1) TRy am 3l (E1) RAT-3rel gRrsmey
Under the Official Language Rules 1976, in which language is it required to reply to the letters received in
Hindi?
(A) Hindi (B) English
(C) HindiorEnglish (D) Hindi-English bilingual
33 | AR HY & ATHDIT FATSTeT o Tl Tgehd glet dTel 37ohi ohT &9 AT glaTT TG T?
(F) AT 3PIHT FACET & (@) ST 37
(3N) VA 3ih (&) 39 H A IS ol e
Which form of the numerals should be used in official purposes of the Union of India?
(A) International form of Indian Numerals (B) Devnagari numerals
(C) Roman numerals (D) None of the above
34 | &g WHR & o FEer™l & gfcrerd wAaTREr o & & Ty AT 9red < T §, 37
FIRATOT & ATH AR o ToTaTH AT fohw STt 82
() 60% @) 70%
(@N80% (&) 100%
The names of the Central Government offices of which percent employees have acquired working
knowledge of Hindi are notified in the Gazette?
(A) 60% B) 70%
(C) 80% (D)100%
35 | YoIaaS ST a1t Aehe REHR TVsTall oh AT &1 STl aTell UERR T IR et &2
() 2000 %. (9) 3000%.
(3N 1000%. (81) 1200%.

What is the amount of award given under Railway Board Individual Cash Award Scheme?

(A)Rs.2000 (B) Rs.3000

(C) Rs.1000 (D) Rs.1200

* 3k ¥




